MERCURY (100 [4 CvL.))
Serial Mbr Range: 0G760300 THRU 0G355520 (USA)

5405

¥ Cinveshaft Houzing, US5A-0T800333/ BEL-OP2E7339 and Below b
Ref |Clazs|Part Description Qt Comment Footnote
1 1538 B974426| DRIVESHAFT HOUSIMG ASSEME|1 [Jet)

2 16 30350 1) STUD, [M10=100] 1 [Long)
2 16 9035015 STUD, [M10= 227) 1 [#-Long]
3 17 23784 PIM, Dowel 2

4 16 9035012 STUD, [M10= 63) 4 [Lang)

4 16 9035016 STUD, [M10= 130) 4 [#-Long)
] 12 856774 WASHER, 406 = 750 = .108] ]

g 11 40740/ MUT. [M10) 5

7 120524 3| SPACER KIT 1 [#4-Long]
a 17 43043 PIM, Dowel [ 375 = B25] [with Hi| 1 [#-Long)
g 17 43044 FIM, Dowel [.375 » B25] MWwithou| 1 [#-Long)
9 22 858228 4| PICKUF ASSEMBLY, Speedomete| 1

10 22 43335 COWMECTOR, (30 Degree] 1

11 22 5822 CONMECTOR, (Straight) 1

12 443437 1| MOUNT 2

13 10 42973|BOLT, [M12 = 154] 2

14 12 3M19)'WASHER, [875 Inch Dutgide Diarr| 2

15 11 43528 NUT. [M12) 2

16 88238410 \WIRE ASSEMELY, Ground 2

17 10 41508 | 5CREW, [.250-20 = .500) 1

18 93152 | CLAMP 2

19 11 35521 (MUT 4

20 10 40107 25| SCREW, M8 » 25] !

21 E707YT|COVER 2

22 10 88417 |SCREW, [H12-24 » B20) 4




